
Answer to Puzzle tooNo . 1010-

EE P V PA IIT/TT/: u
[

K99IB
anoQli t l kk-

Iv6PAIv6PA I , Rk1IBN EI AA-

AA ekA KRG I a tr m11-

NN A R T U Q GG-

t'R4Ut'R4UtR4U' QBEK A4:) 9E 53 TT-

AA F1 ElQGIflEJQAwEQ QC DD-
Q

T UU-

UU U K S 1 QK nnrannQHiT A L U Y A QQ-

KK 6 L U C A'IAI' aaaacC A T E K 0c QLL-

I
,

ID I T G FI DN nanni1 C U TT-
QRlQ? U A T 466 AN AA-

tHt P GQQDE9P U P f 11k BHHninlE K v A ! uwuw-
NAAJE

| |

NAAJE V A aL nmmmI MAAJ olII-

ee . T 1 PUP I I A ee-
QQ>i U99-n

JVAAMi it r '

E1 ! AAJEmmt.UCtUC. nrr-
k

I r REM
3k SS-
a

G N02 AannaN J T aanaQEiP U U L A QQ-
A. # Aa GG-

aaac
v C A M1 A A AM I AA-

4Eaaac4E c.rAcrA. NAAQI OQ ATAATA.-

r.rr'". ,


